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2. A particle is traveling on the curve below, going from left to right overall, as indicated by the
arrowhead at the end of the curve. At point A the particle is slowing down, at points B and
C it is going at a constant speed, and at points D and E it is speeding up. Assume that the
curve is straight at points C and D. Draw in the tangential and normal components of the
acceleration at each of those points. Label each tangential component ar and label each normal
component ay. In cases where either is 0, write that near the point.
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